.

\2

\5.

Poet o

PO EXAMINATION RUESION = TR IDE:NTmEs + EQNS

(i) Show that tan A4 (cosec 24 + cot 24) = l -

(i) If4isan obtuse angle whose sine is 13 and B Is an acute angle whose tangent is 2
without using tables or calculators, find the values of (a) sin 2B; (b) tan @ B)
(N66/Pl/8)

() Ifcosy=4cos(y+ 60°), calculate tan y. ;
(i) Eliminate 6 from the equations tan 6 = g, cos 26 b. (N 66/P2/8)

Write down expressions for sin 24 and cos 24 in terms of sin 4 and cos 4. Hence or
otherwise, obtain an expression for sin 34 in terms of sin A. Given that cos 34 =

4 cos® A — 3 cos A, show that S234=sind - _,., 4 (N67/P1/7)

cosA + cos3A4
If 4, B, C are the angles of a triangle and tan 4 = 1 and tan B = 2, prove without using tables
or calculators that tan C = 3. If g, b, ¢ are the corresponding sides of the triangle, prove that
2=t~ (N67/P2/8) :
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Given that v is acute and tan y = l find, in terms of g, the value of a cos 2y + sin 2y.

. Prove that cot A + tan 24 = cot 4 sec 24, where Ais any angle (N69/PZ/61)

. leen that sin X = —g, cos Y= ——- and X is in the same quadrant as ¥y, evaluate without us-

ing tables or calculators (a) cos (X ), (b) tan (X + Y) (c) cos —X (J70/Pl/6)

By expressing each side of the equation in terms of tan 4, or otherw1$e show that
Sin2A + cos24+1  _ tan(45°+ 4)

St cos2A-1 - mmd Hence show that tan 15°=2 — J_ (N70/Pl/5)

If sin © = g and sin 20 = b, obtain an express1on for bin terms ofa (J71/Pl/611)

() Given that the angle 4 is acute, prove that sm A+ cos’ 4 = 1 If the magnitude of the
angle 4 is y, calculate x and » given thatx + 3 L=sin y° andx —3 =cosy".

(i) Given thatcos4 =1 and that 270° <4 < 360° find, without using tables or calculators,

the value of cos s (J71/P2/6)

(i) Use the expansron of cos (4 + B) to find cos 75° without using tables or calculators,
leaving your answer in surd form with an integral denommator

(ii) Prove that cot A tan 4 =2 cot 24. (N71/P2/6) »

Given that tan 4 = 5 calculate, without using tables or calculators, the values of tan 24 and

tan 34. (J72/P2/Ti)

Given that angle 24 is acute and that sin 24 = _,gs_ calculate, without using tables or calcula-

tors, the values of (a) cos 24, (b) sin 4, (c) tan 4, (d) tan %A. (Answers may be left in surd

form.) (J73/P1/6)




() () 2% (b) -3

1@ 3 () b= 15
2. 2sind cos A, cos? A —sin® 4
=2cos?4—1=1-2sin24;
3sind —4sin® 4
. a ,
=+ ‘(a) Tss%
®) -3
1
(c) ﬂ:m
. b =4a*(1 -
\wo. @ x=0624, y=731
@ -3
- ) §-/2
nw. @ J—4J_
2 13,57
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